
B. Sc. Semester –III (General) Examination2020 (CBCS) 

Subject: Chemistry 

Paper: GE-3/CC-IC 

(Chemical energetic, equilibria, organic chemistry) 

Time: 2 Hours                                                                                                                   FM: 40 

Answer any EIGHT questions                                                                                    5 × 8 = 40 

যে য োন আটটি প্রশ্নের উত্তর দোও  

1. What is called “isolated” system”? Give example. 

    An ideal gas initially at 300K is compressed from 1 lit to 100ml adiabatically and    

    reversibly. Calculate the final temperature in oC. (Cv = 5 cal/mole) 

 
“বিবিন্ন(isolated) বিশ্নেম”  োশ্ন িশ্নে? উদোহরণদোও। 

300K উষ্ণতোয় থো ো 1lit এ টি আদর্শ গ্যোি পরোিতশ  রুদ্ধতোপীয় পদ্ধবতশ্নত িঙ্কুবিত হশ্নয় আয়তন হে100 ml. গ্যোিটিরঅবিমউষ্ণতোoC 

 তহশ্নি?(Cv = 5 cal/mole) 
 

2.  Comment on the statement- “∆H is a state function”. 

     Draw the Carnot Cycle in P-V diagram and mark the various processes. 

     If efficiency of a Carnot engine is 0.25 and temperature of source is 91oC then what is 

     the temperature of the sink?  

 

“∆H হলএকটিঅবস্থারঅপেক্ষক”-বক্তবযটিরউেরমতামতদাও। 
কাা্প্নাচপেরP-V ললখচচত্রঅঙ্ক্করএবংধােগুচলচচচিতকর। 

যচদএকটিকাপ্নাইচিপ্রদক্ষতা0.25 এবংউৎপের(source) উষ্ণতা91oC হয়তাহপলেত্স্থপলর (sink) 

উষ্ণতাকত? 

 

3. What are the criteria of spontaneity and equilibrium in terms of the GibbsFree Energy 

function.Standard Gibbs Free Energy (G) change of the reaction 1/2N2 + 3/2H2 ↔NH3 is -

3978 cal at 25oC.Calculate Kp of this reaction at 25oC. Write down the expression of vant’t 

Hoff isochore. 

চিবে এর মুক্তশচক্তঅপেক্ষপকরোপেপক্ষেতসু্ফতন তাএবংোমযবস্থারশতন গুচলপলখ।25oCউষ্ণতায়1/2N2 + 

3/2H2 ↔NH3চবচেয়ারপ্রমাণচিবে এর মুক্তশচক্তহল-3978 cal.  25oCউষ্ণতায়এইচবচেয়ার  Kp 

মা্চি্ণনয়কর।ভ্যান্টহফ্আইেপকাররাচশমালাটিপলখ। 
 

4. Write the expression for the pH of an aqueous solution of a salt BA (where BOH is a   

       strong base and HA is a weak acid) and hence explain whether the solution will be acidic  

       or alkaline. How does pH of water change with temperature? Why? 

BA লবণ ( লযখাপ্BOH তীব্রক্ষারও HAমৃদঅুা্ল ) এরজলীয়দ্রবপণর pH 

এররাচশমালাপলখএবংতাপেপকবযাখযাকরজলীয়দ্রবণটিআচলক্াক্ষারীয়।জপলর pH 
উষ্ণতারোপেচকভ্াপবেচরবচতন তহয়এবংপক্? 



5. What is called “buffer capacity”? Mention the condition of maximum buffer capacity of   

buffer solution.Dissociation of acetic acid is suppressed in presence of sodium acetate- 

explain.Write the expression of solubility product of magnesium hydroxide.  

“Buffer capacity” কাপকবপল? লকা্অবস্থায়পকাপ্াbufferদ্রবপণরbuffer capacity েপবনাচ্চহয় 

তাউপেখকর।লোচিয়ামঅযাচেপেপের উেচস্থচতপতঅযাপেটিকঅযাচেপিরচবপয়াজ্বাধাপ্রাপ্ত হয়- 

বযাখযাকর।মযািপ্চশয়ামহাইড্রক্সাইপিরদ্রাবযতাগু্ফাপলররাচশমালাপলখ। 
6. Write down the reaction mechanism of nitration of phenol. 

    Write short note - “MPV reduction” 

লফ্পলর ্াইপেশ্ চবচেয়ারচবচেয়াপকৌশলপলখ। 
টীকাপলখ-“MPV চবজারণ” 
7. What is called “organometallic compound”? Give an example. 

    Convert: tetramethylethelene glycol → t-butyl methyl ketone 

    Name two aldehydes which undergo the Cannizzaro reaction. 

জজবধাতবপযৌিকাপকবপল? উদাহরণদাও। 
রূোন্তরকর-লেোচমোইলইচেলী্গ্লাইকল-→t-চবউোইলচমোইলচকপো্ 

দটুিঅযালচিহাইপির্ামপলখযারাকযাচ্জাপরাচবচেয়ায়োডাপদয়। 
8. What happened when benzene diazonium chloride is bolied with water. 

Chemically distinguish – acetaldehyde and acetone. 

Write the name of substrate and reagents of Reimer-Tiemann reaction.   

চকঘপেযখ্ লবচি্িায়াপজাচ্য়ামপলারাইপিজলেহপযাপিপফাোপ্াহয়। 
স্বাতন্ত্রীকরণকর-অযাপেেযালচিহাইিওঅযাচেপো্ 

রাইমারটিমযা্চবচেয়ারচবচেয়কওচবকারপকর্ামপলখ। 
 

9.Write short note -Fries rearrangement 

   Write the reaction mechanism of aldol condensation. 

টীকাপলখ-ফ্রাইেেু্চবন্ যাে 

অযালিলক্পি্পেশপ্রচবচেয়াপকৌশলপলখ। 
10. Complete the following reactions- 

চ্পচরচবচেয়াগুচলেমু্পণনকর- 

 a) C2H5OC2H5 + HI (cold)→     ? +? 

 

 b) (CH3)2CO + NH2OH  → ? 

 

 c) C6H5CHO  + KCN →  ? 

 

d) C6H5OCH2CH=CH2
200

∆

𝑂𝐶
→? 

 

 

 

 


